
  WB  

  OV  

2

1

2

1

4

3

3

3

3

3

3

3

3

Ref Bolts QTY
1 M12 - 25mm 4
2 M10 DIN6921 - 40mm 4
3 BTFF12.040 24
4 BTFF14.040 8

Peugeot Boxer

1

MM.9.P09.0780.S- Mounting instructions

Fiat Ducato

Citroën Jumper

Dodge Promaster

RWD|Single Wheel|WB=ALL|OV=860mm 

RWD|Single Wheel|WB=ALL|OV=860mm 

RWD|Single Wheel|WB=ALL|OV=860mm 

RWD|Single Wheel|WB=ALL|OV=860mm 



4x M12x1.5 - 40mm  DIN6921 

Place inside chassis profile

STEP 2

STEP 1

2



2x M12 - 25mm

7x M12x1.5 - 40mm  DIN6921 

Place inside chassis profile

STEP 4

STEP 3

3



1x M12x1.5 - 40mm  DIN6921 

2x M10 - 40mm  DIN6921 

STEP 6

STEP 5

4



3x/4x M14x1.5 - 40mm  DIN6921
depends on lift

lift might vary from lift on drawing

Lift mounted on the INSIDE of the mounting plates

bolt to subframe 
bolts provided by bodybuilder

STEP 8

STEP 7

5



lift might vary from lift on drawing

Overview

6


	Sheet0
	Drawing View26

	Sheet1
	Drawing View18
	Drawing View19

	Sheet2
	Drawing View20
	Drawing View21

	Sheet3
	Drawing View22
	Drawing View23

	Sheet4
	Drawing View24
	Drawing View28

	Sheet7
	Drawing View27


